
Résous les opérations suivantes en colonnes.

Prénom : ____________________

46 + 35 = 36 + 57 =

udc

+

23 + 38 = 32 + 53 =

6 + 83 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

26 + 28 = 46 + 49 =

udc

+

83 + 13 = 42 + 29 =

76 + 8 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

27 + 77 = 56 + 42 =

udc

+

80 + 14 = 46 + 39 =

76 + 48 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

22 + 67 = 36 + 52 =

udc

+

70 + 29 = 26 + 44 =

66 + 88 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

42 + 45 = 46 + 46 =

udc

+

30 + 37 = 28 + 52 =

16 + 78 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

32 + 35 = 50 + 49 =

udc

+

20 + 47 = 68 + 52 =

116 + 23 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

33 + 135 = 150 + 49 =

udc

+

30 + 59 = 77 + 22 =

134 + 43 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

54 + 133 = 60 + 39 =

udc

+

39 + 57 = 72 + 22 =

214 + 53 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

55 + 33 = 160 + 139 =

udc

+

129 + 57 = 83 + 11 =

214 + 143 =
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Résous les opérations suivantes en colonnes.

Prénom : ____________________

55 + 133 = 166 + 29 =

udc

+

137 + 46 = 93 + 33 =

111 + 157 =
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